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Das Distributivgesetz - Losungen
e Aufgabe 1:

richtig falsch
a) 17(3,2+1,4)=17-3,2+1,4-3,2 ] X

m2.2,13.3(2.9) x| []

c) 558-8-6,2=(55-6,2) 8 X

d) (1§_g)5_52 5.3 |

4°3/6"63 64

f) 25.1,4-1,4-13=14-(25+13) | X|
e Aufgabe 2:

a) 6.3+7.3=3.(5+)= 39 b) 4,2.-8-4,2.6,4=|4,2-(8-6,4)= 6,72

1§55 )58 vihat iR &
w5 G35
e Aufgabe 3:

a) (25-31-15-31)= 310 b) (6-188+6-12)= 1200

c) (12-68-28-12)= 480 d) (87-14+14-13)= 1400

e) (9-177+9.23)= 1800 f) (7.33+7.22+7-45)= 700

g) (15.17-7-15+15-10)= 300 h) (45.23+23-25-20-23)= 1150
e Aufgabe 4:

3 4 wEde oS 1
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78,9 18} 8 (E_l _).é_ 1 2‘(4_5_§)_ 2
ul)9(7*‘14 8)_ 2 95 10%20/3° 3z "a3lss 33" 1
e Aufgabe 5:
15 17 1 A73_43.15 ; D8=
Q) 3 S+35= 3 b 1533-13.15= 3 c) 0.8-0,4+0,8-0,6= 0,8
35 23_ 1 B Mo S _S Y §
) 3.5-23- 1 e qp85+qgB8= 4, 0 1384-3504= 33
e Aufgabe 6:
. ) o 1.1, 7/4_ 51
a) 15.3,4+15-1,6+15.2= 105 b) (38 4+8)?_ 22
(9.8 _5|_ gl l.( i_2_0)“ 19
¢) 7(14*21 28)_ 21 d7*+7-29)= 31
B 5(8.8-¢). 1L
e) (3125+25+7,25+1125)-3= N2 (5+9 3)- 15
1 1 1_ 3. S5 41| 238
Q) 55-3+12:3+23 3= h) 2 (0,375+24+13)_ e
i) 6,67-(10+10000)= 66766,7 i) 80-(15+23+42)= 6400
S5.07 a1\ o7_ a7l 121 4.1 1
K) (39+212 43) &l= g D59*59%53 5
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